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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEAE A 14,658,707 11,360,404 3,298,303
HEHSASE 29 258,707 240,404 18,303
dEHsAsd 29 258,707 240,404 18,303
dEssE 28 & 72 258,707 240,404 18,303
101 21AH| 176,087 167,688 8,39
03 SRA(RIH )22+ 103,555 92,571 10,984
Otz (2 MHSXIZR) 54,710
s 2,385,500« 18~ 12& 28,628
g2+ 834,950 x12H+23] 1,670
IESg 3,480
- Xt 40,0002 x 12+ 122 480
-RLIE 20,0002 28 122 480
-SANE(HM) 30,0002 x 18 * 12 360
-SANE(EM) 70,0002 x 1 x 12 840
SIS (ATH) 110,000 x1&* 122 1,320
=R =] 170,000& x 12+ 123 2,040
A== 100,000&~1&x12& 1,200
AFRY 125,000 x 1 * 122 1,500
dEY0=3 1,431,350 x1H*23] 2,863
HIOtE aHH| 13,6723 12 +10 1,137
AR E=y
21,3132« 1~ 13412+ 123 3,325
] 170,508 x 12 #52 8,867
O3 (A4 =e) 47,460
Jl2s 2,227,960« 18~ 128 26,736
- d2ed 891, 1803 1 *23] 1,783
CEEANRE 120,000& x1& =123 1,440
EICEEES=!
19, 1372 x 1+ 1BAI 2 123 3,445
S22 (HL2RN)
153,006 x1&+52& 7,961
- HASAH| 140,000& x 1= 123 1,680
-HEY0S 2,227,960 x 1 %120% 2,674
- G2 A 102,064 1 x10& 1,021
- HESY (WA 40,0002 x1&* 122 480
HEFL(HMAE)
20,0003 18122 240
Ostgdacld ditddt=
2,385,500 x 12 *30f% 716
OAlg2eld ditedi=
2,227,960 x 12 *30f% 669
M ORNZZ2NSE S 72,532 73,776 A1,244
OQEMEHSKIZY 2l AR (0=,8F
&g 8) 161,9002 x8EH x 14 %43 72,532
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RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
201 LBt 69,620 49,308 20,312
01 AtR2telbl 5,300 5,300 0
ORIMHSKSE 222/l
5,000,000 5,000
Oul=t| 150,000 2 300
02 S3=2g4l 64,320 44,008 20,312
OZ2223(HI| - &ot=Ee3)
860,000 122 10,320
OAZEHISAHI (334, 28 .Vl
H) 50,000
OXtE| 4,000
- 75l 2,000&+900 £ 1,800
- XA =4 300,000& »1CH*42] 1,200
28 % 338s= 1,000,000 *1CH 1,000
206 =4I 13,000 13,000
01 =4l 13,000 13,000
O%Hl & HEg #& 25,000 400K 10,000
OJIEHHZH(X S) 3,000
HRES(BZAIHL) 14,400,000 11,120,000 3,280,000
WA XIE 14,400,000 11,120,000 3,280,000
SIIHSEH AN=2dES 14,400,000 11,120,000 3,280,000
701 JIEtRI HSHES 14,400,000 11,120,000 3,280,000
03 BIILEEIAHN=2EES 14,400,000 11,120,000 3,280,000
Odl==BI)IESE3H dES 14,400,000




